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Income of A is 20 percent more than
the income of B and income of B is
30 percent more than the income of

C. The income of C is
(approximately) how much
percentage less than the income of
A?

A B I B B I A 20 ufaerd
T 2 MR B &I T C &I I 4
30 ufawra 3fere 21 C @ ™
Vm/sﬁ (b) 30 (). A @ 31 4§ fHam wfaera

(c) 40 (d) 32 &g 22




f(x+y):(y+2):(z+ x) : 3 : 4
and (x + y + z) = 27, then what is the

valueo @
i (x yl=(y+zl=(z+x)

AR (x +y + 2) =(27, X z BT 49 &I

2 5 IS
(a) 17 (b) 12
15 (d) 10
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Diameter of wheel of a cycle is 17.5
cm. A cyclist takes@nutes to
travel distance with speed of 90

v km/hr. How many revolutions will
he wheel make during journey?

ngﬁw—cla%trf%’ﬁmalmws
4t 2| e wsfeéd dIred & 90
fod /eer @1 1fd 4@ b g0 & T
3 H 165 e od 2 AT B

) 425000 \@ 525000
(/(9;/450000 )@ 500000



-é,?) X7 Total surface area of a solid
hemisphere is 4158 cm?, It is melted

2 4—3%6- to form cylinder whose height is 1
/éf(j\:'% cm and radius of base 7 cm. How
many cylinders will be formed?

Udh ol Tl BT §d IS HAhd
2, QUS 4158 AH° 2| 3 Ruarex b da9
—'—3—3 ( 9 T ol 8 el 4 1 |4

IR AR  Foar 7 A 2| fHaq

22X @ ——
(a) 136 X (b) 156 A
(c) 96 A ( (d) 126 l \/

Y\ =



A sum of Rs. 1200 becomes Rs. 1560
at a rate of simple interest in 3
years. In how many years will the
sum of Rs. 800 amounts to Rs. 1120

at the same rwﬁst?
1200 ©9Y @I M 3 I8 H TR
&ATS ®I ¥ 9 1560 ©UA Tl Il 2 |
fpas ol o AR &I B GHH
¥ UX 800 YA HI W 1120 U Tl

SITgI?
(a) S years ,/(ﬁﬁ years

(c) 3 years (d) 6 years



Highest common factor of three
distinct numbers is 7 and their least
common multiple is__42. If all

numbers are less than the least

common multiEle, then what is the

product of these three numbers?

9 gos &A™ BT gE<H GHIUdd &
7 8 3 SABT AHAH GHUAd D 42
2| afe wfl &= agan 9Hvad®
d4 ®idl 8, d 3 d9 &Rl &1

UGS T B2

(a) 686 (b) 6174 ®
(c) 4116 \ (912058




P, Q and R alone can do a work in
@ 30 12, 18 and 24 days respectively.
7)"2 @ They worked for 5 days, 4 days and 6
l? days respectively. They received Rs.
@ 32000. What is the share of Q?
P, Q 3R R Add U 1A Bl HAI:
12, 18 3R 24 fef § & dHd B |
@ el w5 R, 4 R AR 6 R

o fHar| = 32000 U WIwd gU |
Q BT HIT HT =7

(a) 6000 {7 8000
(c) 12000 (d) 15000



A bike manufacturing factory has
two plants P and Q. Plant P
manufactures 60 percent of bikes
and plant Q manufacture 40 percent.
80 percent of the bikes at plant P
and 90 percent of the bikes at plant
Q are rated of standard quality. A

bike is chose and is
found to be of\standard quallty hat
is the probabili come

from plant P?

U$h q13d AT dREE ¥ 1 499 P
IR Q B | GIA P 60 Ufaod dIsdh &1
o &xar 8 3R 9939 Q 40 ufavrd



&1 o dar 2 3R §IF Q 40
gfaera &1 fAEfor svar 21 wiic P
g} 80 Hfuerd drsad 3R wiic Q H
90 UfUeId dISdd &l ¥ess ddlfclel
o M1 f TE B P d36
Jgfeed vy 9 -l Wrdl 8 3R
HEdH T[T B 9T WITcd] 2 | 393!
1 uilfiear @ f& a8 ¥93 P 9

\JA1/4/7 (b) 6/7

(c) 1/7 (d) 2/7



The area of the base of a cuboidal
tank is 8400 square centimetres and
the volume of petrol contained in it
is 10.2 cubic metres. Find the depth
of petrol in the tank (correct up to
one decimal place).

U$h HGR Cb $ AR B HAba
8400 97 HIHeR = 3R zUH HIyeE
Ul &1 ATAAT 102 951 HicX 8| &b
q Ugld &1 TEs Sd &3, (SIed
I db gal) |

(a) 1300.4 cm (b) 1843.2 cm

(c¢) 900.2 cm Jd@jj cm



Surendra has a property having a
certain value. He gives 60% of his
property to his wife. 75% of the
remaining property to his daughter,

and the rest to a trust. If he gives
property worth Rs. 6,00,000 to the

trust, find th?n.KZ; the share of
the propert he ves to |his
daughter. |0o——> 60OOO

s » uN e ff¥aa gea & "ufa
81 98 3JUHl HURT &1 60% faar
TN gt &t qar 21 A9 JuRky &1

75% SAD]I 4l BI, AR dHI Th ¢
®1| gfe 98 39 &I GURT 4T =.



g% dl 6,00,000 ¥9F A7 P dIg, d8
AU 4 B < g Ul @ fEEd @1
o =T B |

(a) Rs. 10,00,000

(b) Rs. 15,20,000

(c) Rs. 15,00,000

M Rs. 18,00,000
b

D




(a) 144

et 140

Solutions A and B contains acid to

water in the ratio!4 : S,and (S : 7,

respectively. Three litres of A is
mixed with S litres of B. In 960 ml of

this solution, how much acid (in ml)
should be mixed so that the ratio of
acid to water becomes 1 : 1 in the
resulting solution?

fqeas1 A 31X B # 37a1 30X U= &1
AUTd HHT: 4 : 5 AR 5 : 7 2| A
e A &I 5 oflex B @& 91 e
WTdT 21 39 "Uld & 960 fieiiofler #,
feaar thas (Frefichier ) faemar

(0) 136 Gror anfee arfe oot ota 3 e
(d) 130 v gr=ft &1 Igurd 1 : 1 8 WI¢?



Solutions A and B contains acid to
water in the ratio, 4 : 5 and (5 : 7,
respectively. litres of A is
mixed witl{ S litres)of B. In 960 ml of
this solutioir;low much acid (in ml)
should be mixed so that the ratio of
acid to water becomes 1 : 1 in the
resulting solution?

fqe a1 A 31X B # 37a1 3iX U= &1
3UTd HHT: 4 : 5 AN 5 : 7 2| A
e A &I 5 oflex B @& 41 e
TdT 21 39 "l & 960 fieliofler ¥,
feaar this (Frefiefier ) fAemar

i) 144 (b) 136 Gy anfee anf oRumeh ata ¥ wRis
s} 140 (d) 130 R ur+fi &1 IFura 1 : 1 & WY?
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The marked price of an item is Rs.
1,900. The shopkeeper was offering
it for a discount of 12% but on
further bargaining agreed to offer a
successive discount and finally he

sold the item for Rs. 1,538.24. What
was the second discount offered by

him?

Uh d%] &I JJfdbd Jcd 1,900 ..
GHMGR 3H W 12% &I B Q &I
T, dfds M Ad—dld HH UR d8
$ifd BS ] W WgAd @ AT 3AR
3dd: SU- 9% @l 1,538.24 ¥Ud H
49 fear| SS9 gRT < 13 gl 8¢
a1 ofi?
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(b) 37

(d) 35

A bus has to travel from A to B. The
bus covers the first one-third of the
distance at 25 km/h and the next
one-fourth of the distance at 30
km/h. For the rest of _the journey,
the bus travels at@n/ h. The
averge speed of the bus (in km/h) for
the entire journey is

WwﬁAﬁBﬁwm‘-ﬁ?l
99 Ugdll Uh—fasrg g8 25 ol /der
&1 fa € AR Tl Tp—atarg
30 fodl /ger & I1fd 9 aI Bl 2 |
9y AT @ foiv, 9 50 fodl /ger &1
Tfd 4 Fadl 21 & I & fag 99
&1 3taa wfa (fed /ger ®) 2



2&4@ Simplify the following.

\ M Pt &t wve AR
YiLd :

A - .1 1) & 3

1573:,:[3+4] 7X: o r

S y

ﬁ (c) 22 @ 56




If Ashok and Koushika work
together, then they can complete a
piece of work in 20 days. However, if
Ashok works alone and completes

half the work and thenm Koushika
takes over the task and completes

the second half of the task, the task
is completed in 45 days. How long
will Ashok take to complete the task
if he worked alone? Assume that
Koushika is more efficient than

Ashok.

Ife 3ren® 3R HIRHT Te A1 B
& =, df 4 20 f&A1 A b dM QI
HX Adhd B | BT, Ife P AP




&R HIAT 2 X =T HH YA HIAT
g 3y R *IfeT s dxredt 2

MR & &1 qEA AT YRT BNl 2,

//)(5:’- |80 dl &1 45 faaf A g1 @ war 2
Lo 30 afe IEn® dd &M HIAT & dl S99
. . d1d YT H H fhaar g9g e
A a9 ifsie f& «Rier sens |9 aftre

HIUA B |

/ 3%/\\ \/mﬁ days (b) 65 days

(qq \L (c) 30 §ays (d) 25 days



Five consecutives even numbers are
written in descending order. If 6, 8
and 10 are added to the first, second
and third numbers, respectively, and
13 is added to each of the last two
numbers, the new sum of the
numbers becomes 120% of the sum
of the consecutive even numbers

QO / — 50 initially given?Find the square of the
_ second largest of these five numbers.
100/ —> D

) A &‘34!0 +1%, “H'}

gid oITdR 99 9&¢ Ja]ial $q |
forel it 21 afe ueell, gEd 3k
ng\{m\‘ et Wt ¥ w6, 8 AR 10
N 2 ME s e oy ate siftm <t e
53\-::’2%({ 4 ude H 13 s fear wig, i



&3 & 91 AT UR9 ¥ &) T
AR 99 A1l & I &1 120%
g AT ®, 39 Uid e § 9
Ul ed 99 W@ &1 9@ 9
DI |

\Jaf§704 (b) 2304

(c) 1936 (d) 2116

®



‘/@0 a.m., (b) 11:00 a.m.

Three pipes are attached to a tank.
The first one fills it completely in 5
hours, the second one fills it
completely in 4 hours and the third
one empties it in 20 hours. If all the
three pipes are opened
simultaneously at 7 a.m. at what
time will the tank be completely
filled?

Udh ¢b 9 I Urgy 98 8Y @ | Ul
S9 5 ¢ H YT |YAT =, U 99 4
g H qx1 9xdr = 3N vt 9 20
g¢ H "@lefl &X <ar =) afe &=t

UIsd U W1 gag 7 99 @id fQu

(c) 10:00 a.m. (d) 10:30 a.m. Fg qf <@ fbad ol g WX STeEi?



(a) 3,000
(c) 2,400

If some items of clothing hought at
prices ranging from Rs
400 are sold at pri ing
Rs. 350 to Rs. then what is
the maximum possible profit (in
Rs.) that might be made in selling
12 such items of clothing?

e ————————————

1 3,600

If dusSt &1 $B I¥U 250 U
4 dddHY 400 3UF DAl U @RIGl
STl 2 | 350 98 | o'$xX 550 ¥
dEdl IR §d od 8, dl ®Usl DI
Ul 12 a¥qarl &1 491 R Sferdhan
gaifad a9 (P94 #) 1 8 Fddl

(d) 1,800 37



The average age of a husband and a
wife was 25 years when they were
married 4 years ago. The average age
of the husband, the wife, and their
child, who was born during the

interval is 20 Wow. How old is
the child now?

Ud ufa IR Uil &1 IAtad A 25
a9 off 59 S9@! ATl 4 99 UTA T3
off | 39 ATl @ <IE U<T gy ufd,
Uil 3R S9d ded DI IATEd A 39
20 99 2 | 971 9 fha- ATl 1 8°

(a) 1 year (b) 2.5 years
(c) 3 years U,d‘)/ 2 years



Reena reaches a party 20 minutes
late if she walks at the speed of 3

km/h from her house. If she

increases her speed to 4 km/h, she

’ , l,{-/rg will reach 30 minutes early. What is

ww the distance between her house and
’_}S'om he venue?

Ife 91 U4 'R | 3 ol /g1 o)
fd | gad @ qf 98 fedl ardl 9 20
fie @& | ugadl 21 afe ag s
fa 4 feft /ger a& der <qd 8, i
(a) 30 km L/(ifﬁOkm dg 30 fc ugd ugda Wl S
BX 3R BAHH W & dd Bl gl

(c) 40 km (d) 20 km RIT 27
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(a) 9 m
(c) Sm

(b) 7 m

Fifty solid metallic cubes, each
having 2 m long edges, and ten solid
cuboids, each having dimensions 5m
x 4m x 3m are melted and a big solid
cube is formed. What is the length of
each side of this big cube?

UaTg oY gifcdsd g4, o9 9 uds
&1 foar 2 Hex oer 2, Y <9
S g9, fo9d 9 Udd &7 I 5

m X 4 m X3m§,ﬂﬁﬁﬂ?lﬂl‘l
oTdT 23X U ST 319 94 §9dT 2 |
39 98 "9 @] UdD Hl I «dly

\MT10m g &2



(b) 4

The time taken by a boat to cover a
distance of 60 km downstream is
equal to 60% of the time taken by it
to cover 75 km upstream. The speed
of the stream is 4 km/h. What will be
the total time (in hours) that the
boat will take to cover 39.2 km in
still water and 51.2 km downstream?

ATt Hdd 60 fHHl
d & g dA H forr wmar 9y
gRT & Yfasd 75 &M &1 8 au
&3 ° fIU 17 999 & 60% & dXI6R
2| gRT &I Tfa 4 feh /ger 81 g
gl # 392 &l 3R aRT & IAThd
51.2 f&fl & & T &= A 19 B

(d) 2.4 &g fpaar @ (get ¥) am?
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The amount payable on maturity of a
certain sum invested fnz : Ears at
the rate of 15% p.a. interest
compounded 8-monthly is Rs.
18,634. What is the simple interest
on the same sum for the same period

at 5% p.a.?

2 98 @& foru a9 @&F 18 v fAf¥aq
IR & gRUaadr 94X 15% "9fad a8 @)
X 9 <9 ¥ 8—HI$ apdfg <ars
18,634 %. © | I VR WX HIA 3IFafSy
& fov 5% wufa ad &1 d GTERoT

SICRGGEL ®
(a) Rs. 1, (b) Rs. 1,566~

(c) Rs. 1,200 \ 4@ Rs. 1,400




Two trains of length 600 m each are
moving in the same direction on
parallel tracks. Initially train A is

ahead of train B and both the trains

are moving with the same speed of

108 km/h. The driver of train B

accelerates by 1 m/sec2. After 50 sec
e ———

train B is just completely ahead of

train A, Calculate the original

distance (in m) between trains A and
B

600 Hicx odls drell &I Nelrfsdar
AR 9eRAT IR o 8 foom 4 a4
S 2 URY ¥ 29 A, o9 B & 3
2 3X <= 29 108 fedfi/ger &




gaE M 9 9o @I 81 ¢ B @I
qreid 1 Hlex /d9ds a1 Tfd derdl
2] 50 UPs @ d/¢ o1 B ¢4 A 9
fdche amt 81 g7 A IR B @ 4
ardfas 8 (Wex #) 31 7oA W |

(a) 1000 (b) 1500
(c) 2750 _Ad) 1250

®



I spend 25% of my salary on rent,
20% of my salary on transport, 40%
of the remaining salary on groceries,

and save the remaining part, which
is RsO. What is my salary?
d U dd9 BT 25% [T WX, 20%

yRaed W, Y dd9 BT 40% fH+ @

9 R @d Al g 3N U9 HIAT
Gl 16,500 . €9TdT & | A1 dd- &1

27
(a) Rs. 40,000 (b) Rs. 45,000 'D

(c) Rs. 30,000 Rs. 50,000



